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(% N) (EA7 : TH, %)

SFN 5 A RN 4 R b - | AR

X o A Rk bt LK ] iAnd=a (A)-(B) (C)/(B)

(A) (B) (C) X100

L. B o/ B &R B B 840, 369 18.6 931, 624 20.7 A9l 255 A9.8
2. — s = #H 4 - - - - - -
3. ff A OB R O F BB - - - - - -
4, JiE * H 4 92 0.0 22 0.0 70 318.2
5. I& x H 4 3, 041, 893 67.4 2,957, 006 65. 6 84, 887 2.9
6. JE 1Y A 1 0.0 1 0.0 0 -
7. f A 4 513, 612 11.4 475, 685 10. 6 37,927 8.0
8. ik fetd & 107, 651 4 113, 627 2.5 A5 976 A5.3
9. & Iz A 10, 909 0.2 26,918 .6 A 16,009 A59.5
% A & 2 4,514, 527 100. 0 4, 504, 883 100. 0 9, 644 0.2
(% H) (ENr : TH, %)

A0S AR E S0 4 4EFE # J E B

X 73 RREA Rk Lt LK ] Tl bt (A)-(B) (C)/(B)

(A) (B) (C) X 100

1. #& % # 78,512 1.8 75, 831 1.8 2,681 3.5
2. P& 55 e fF -y 2,986, 011 67.9 2,913, 666 67.9 72, 345 2.5
3. [E B RE ORI B £ W& 1, 274, 394 29.0 1, 248, 661 29.1 25, 733 2.1
4. & FH O OF OE WLoH & 0 0.0 0 0.0 - -
5. t& e * ES # 38, 455 0.9 39, 549 0.9 A1, 094 A28
6. % & A AYA & 10, 062 0.2 1 0.0 10, 061 1, 006, 100
7. 18 18 # - - - - - -
8. B * H & 8,076 0.2 11,524 0.3 A3, 448 A29.9
9. T 1 # - - - - - -
7 H & 2 4, 395, 510 100. 0 4, 289, 232 100. 0 106, 278 2.5




